
Answers to EEE210 First Midterm AY2018-2019

1. (a) If D1 ≡ forward biased and D2 ≡ forward biased then Vout = Vin

and Vin > 80 V. The smallest value of Vin is 80 V.

(b) Vout = 80 V (D1 ≡ forward biased and D2 ≡ reverse biased).

2. (a) VS = 2.81235 V

(b) VS = 2.85 V

3. vo(0
+) = 0 V ⇒ VD(0+) = −2 V ⇒ D is initially reverse biased. D

switches to forward biased at time tp = 24 ms. Finally:

vo(t) =

{

5− 5 e−t/(47 ms) V if 0 ≤ t ≤ tp

2 V if tp ≤ t

4. (a) 43.97 mA < IR(t) < 58.68 mA.

(b) RL ≥ 116 Ω.
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